1.

wﬂnsmmehmmquﬁwﬂmﬂ{m},ﬁmlum ‘
gs the most polluted ? City emerged

(A) Guwahati (B) Saharsa

() Begusarai (D) Kathar

o6 2024 ¥ Y o frdd B SER WA A TR wefr ww ww ¢ 2
(A) T (B) W

(€) T (D) W

Which position India got in EIU’s Democracy Index-2023 ?

(A) Blst (B) 65th

(©) Alst @) 49th }(\

imi'&*mwfﬁ-zuzaﬂmﬂ

@ 519

) 41 *@. 497

Who has b{@u‘r the Bob Jones Award, the highest honour of the
US Golf Association ?

(B) Jack Nicklaus

(A) Tiger Woods
(C) Walter Hagen (D) Harry Vardon
EW-ﬁmwmﬁﬁﬂﬂﬁmmmgﬁR%fEQM@W
b

(h) 29w e @) W% frward

(©) weex 4w D) A



4. Given below are two statements -

Statement | : The Shinkun La tunnel is at an nltit‘udﬂ of 15,

s t II : The length of Atal tunnel is about 6.02 km-
. — wir from
In the light of the above statements, choose the most appmprmu ans

the options given below :

(A) Both Statement I and Statement I are correct

(B) Both Statement I and Statement IT are incorrect
(C) Statement I is correct and Qtatement IT 18 incorrect

(D) Statement I is incorrect and gtatement IT 18 correct

g o wa feg ¥

waa 1 : foEd @ g 15,855
mu:mﬂﬂaﬁaﬁrﬁﬁ.uzﬁﬁ. 4

iz W Fad W E

mﬁ%ﬁﬂmﬁﬁmmwﬁﬁﬁqwﬁmﬁﬁﬂmﬁammw

Fifaa :
wmlmmnﬁuﬁﬁ

{B}mrmwnﬁmt
u:mmlnﬁﬂreﬁ‘nmnm%

() oA 1 Tea & R w1 R

TBC : 24/ECPT—A 3 A



Given below are two state :
sub-style-

5.
Statement I : Ram Mandir is designed in Maru-Gurjars
Gtatement II : Ram Mandir is designed by the gompura Family <
Ahmedabad.
answer from

In the light of the above statements, choose the most appropriat®

the options given below :
I are correct

(A) Both Statement 1 and Statement I
tement [I are incorrect

(B) Both Statement 1 and Sta
t II 1s incorrect

I is correct and Statemen

(C) Statement
d Statement II 1s correct

(D) Statement I is incorrect an
3 @ o g T F

:mﬁﬁ?aﬁmﬁ-gﬁfu
o s @ dAga TEr
ﬂqﬁmﬁﬁﬂﬂﬁ

aﬂ—ﬂ'ﬁ'ﬂﬁmﬁqﬁmﬂmtl

waw 11+ U9 A mnfgaﬁﬂfsmwtl
mmﬁa‘:mmﬁﬁﬁ
#ifed

(A) =94

() a7 1 3t w9 1
tsmasmnmt

Isﬂtmﬂﬂiﬁﬂﬁﬁ
= Ted §

(©) ®a3 1 =&
mm-lmtsﬂ?mﬂaﬁt

4

TBC .
U/ECP—A



6. Given below are two statements -

Statement I : Bab el-Mandeb strait off the tip of Yemen is a maritime choke
point in Red Sea crisis.

Statement II : Bab el-Mandeb strait forms the western entrance to the
Red Sea.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement Il are correct

(B) Both Statement I and Statement Il are incorrect

(C) Statement I is correct and Statement II 1s incorrect

(D)) Statement I is incorrect and Statement II is correct

2 2 wya few Mo €
w%ﬁ%nfmﬁmm-ﬂaﬂmmwﬁmﬁﬁﬂﬂﬁ

s fag %)
mn:mmﬂﬁiwmmmwﬁﬂmmmh
mﬁﬁ*mﬂﬂﬁM?ﬂﬁﬁﬁﬁﬂmaﬁammw
Hifad :

(A) woA 1 #t w9 10 3 =@
(B) Hga 1 sl ®wa 11 F e ®
©) =9 1 ¥@ & ol ®9 I 7o ¥
(D) %o 1 Tea & iR 9 I WG R

w94 1 :

TBC : 24/ECP/1—A 5
P.TA



7. Arrange the following Indian cricketers completing 1
in age to eldest in age : e Dmmnsﬁ'ﬂmww
(1) Yashashvi Jaiswal (2) Ravi Shastri
(3) Sachin Tendulkar (4) Kapil Dev
Choose the correct answer from the options given below :
(A) (1), (2), (3), (4) (B) (3), (4), (2), (1)
(C) (@), (3), (2), (1) (D) (2), (1), (3), (4)
g # gad 9 A 98 9% 1000 T R F3 =@ Fraferas st fmEed 5 omfom
Hied
(1) geret smgwaEmE (2) W
(3) wfe dget (4) wfra <3
¥ fou v fawedi ¥ R WE IW W OgAE w6
(A) (1), (2), (3), (4) (B) (3), (4), (2), (1)

(C) (4), (3), (2), (1) (D) (2), (1), (3), (4)
Arrange the following National days in chronological order of their

occurrence :
(1) National Mathematics Day (2) National Science Day

(3) National Youth Day (4) National Energy Conservation Day

Choose the correct answer from the options given below :

(A) (1), (2), (3), 4) (B) (2), (3), (1), (&)

(C) (3), (2), (4), (1) D) (2), 4), (1), (3)
et T A ® T wEwGE F9 0 s #ed
(1) wm wfe feaw (2) = fagm fGaw

(3) Tha gan fea 4) UE FE W TEw

#3 fry T fawed @ WH OIW H OTTE FAR
(A) (1), (2), (3), (4) (B) (2), (3), (1), (4)

(C) (3), (2), (4), (1) (D) (2), (4), (1), (3)

BC : 24/ECP/I—A 6



9. Arrange the occurrence of the following Global Summits of 2024 in chronological
order :

(1) WTO

(2) G7

(3) UN Convention on Biological Diversity

(4) G20

Choose the correct answer from the options given below :
(A) (1), (2), (3), (4)

(B) (2), (3), (4), (D)

(C) (3), (4), (1), (2)

D) (4), (1), (2), 3)
2024 B Frefafan Afves firer Toedl F1 929 W) ®EREES w9 9 SEtEd

Hi9T :

(1) s=g & A

(2) #7

(3) Iaw fafavm w S T FAH

(4) =20

2 ey 7o fawed § A W@ IW F gAE IR
(A) (1), (2}, (3), (4)

(B) (2), (3), (4), (1)

(C) (3), (4), (1), (2)

(D) (4), (1), (2), (3)



10. Consider the following statements :
(1) ‘Risa’ is a traditional tribal dress of Assam.
(2) National Dolphin Research Centre was inaugurated at Patna.
(3) Underwater metro rail service has been inaugurated in Kolkata.

4) Satellite and Payload Technology Centre has been started at Sriharikota
in Andhra Pradesh.

Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (3) and (4) only
(C) (2) and (3) only
(D) (1) and (4) only
Prfafan Fod W AR #A
(1) ‘ﬁm'mﬂmﬁﬁﬁmﬁmﬁﬁﬂﬁ?l
@ Wgﬁﬁﬂiﬁmﬁmwmﬁmw#'

(3,Wﬁa’mmﬁaiawﬂmﬁ*‘“w**

ma:iuuﬂw@mﬁaﬂEﬁﬁéﬁﬁzaﬂtﬂmm@ﬁﬁﬁﬁaﬁ@mﬂ

ﬁmwmﬁﬁﬁnﬁmwwﬁﬁ=
(A) F=a1 (1) 3T (2)
(B) #=m (3) 3l (4)
(©) F=m (2) st (3)
D) F® (1) ()

TB‘C H MCPJ'I..._&



11. Consider the following statements -
(1) XPoSat will unravel the mysteries of black holes.
(2) XPoSat has a cost more than $£188 million.
(3) XPoSat expected lifespan is two vears.
(4) XPoSat was launched from Sriharikota in Andhra Pradesh.
Choose the correct answer from the options given below :
(A) (1) and (4) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (2) and (4) only
Frfafaa o ) faar i3 -
(1) e = g ® wel d Tel Se
(2) mﬁmlﬁﬁﬁ%ﬂ?mﬁm%l
@) wEidz w1 ST @ W@ I E
(4) Tz | Ay waw B siei & @ fEE T A
3 Ry U fawed # @ WH IW w GIE HEA
(A) Bad (1) 3T (4)
(B) ®ad (2) R (3)
(C) #aa (1) 3R (3)
(D) #=d (2) 3R (4)

TBC : 24/ECP/I—A 9



12. Consider the following statements :
(1) The International Solar Alliance headquarters is located at Gurugram,
Haryana.

(2) Coalition for Disaster Resilient Infrastructure is located at New Delhi.
(3) The International Solar Alliance was USA idea.

(4) Quad has brought together India and Russia.

Choose the correct answer from the options given below :
(A) (1) and (2) only

(B) (2) and (3) only

(C) (3) and (4) only

(D) (1) and (4) only

Frefafas w9+ w faunr Fifea -

(1) WWWHWW’QW*&W%'
(2) mvﬁﬂﬁgmﬁﬁ#mw#ﬁﬁﬁﬁmm
@) sty dr weEw gooEw w1 fEEw

(&) 7 wrm st ww @ W @R d @ g b

H4 fro. oy fewed @ W@ I F T FOA

(A) #F7=a (1) 3T (2)
(B) %=m (2) 3t (3)
(C) ®am (3) 3t (4)
D) F=m (1) a9 (4)

TBRC -
LAECP/—p 10



13
. G X

(1) ; as awarded the
Computer scientist Hari Balakrishnan
Prize,

} H . o 'y 11
Centry) Industria] Security Force (CISF) raising day was revised in 2022,

2023 Marconi

(2)
3) The Widest gap of Western Ghats is at Palakkad in Kerala.
%) Flyash is a wanted burnt residue in coal thermal power plants of India.
Choose the correct answer from the options given below :

(A) (2) and (4) only

(B) (1) and (4) only

(C) (1) and (3) only

(D) (2) and (3) only

Frefafen w9 w faaw =900 -

(1) Fvga dat ot aegom =) 2023 & WA WEA veE fEa T

(2) =3 shdfs o 3= (Dadomus) = o fTag 39 2022 3 d@vifim
&

(3) ufradl =z %1 "ad 45 v S & uwews § 6

(4) TETEUW wa @ ®wgen o fagm @@ § aifea wen gen sEdm ¥
S fru wu fawed d | W IW W owE wEA .

(A) BEd (2) 3 (4)

(B) Fa4 (1) 3 4)

(C) Fae (1) 3 3)

(D) ®ad (2) A (3)



14. Match List I with List 1T -

List I
(Payload)
(@) Cartosat-3
(b) Aditya-L1
(c) XPoSat
(d) RISAT-2B

List II
(Date of launch)
(i) September 2, 2023
(i) May 22, 2019
(iii) November 27, 2019
(jv) January 1, 2024

Choose the correct answer from the options given below :

(@ (b)
AA) () @)
B) @ D)

(C) @Gv) (i)
D) &) G

(c)
()
(iit)
(@)
(if)

qﬁlmaﬁrnﬁﬁmﬁaﬁm:

get 1
(W)
(@) FEHS-3
(b) 3nfeE-TEl
(c) e
(@) f&e-2#

(d)
(if)
(iv)
(iii)
(iv)
et 10
(wt=r fafe)

(if) TawL 27, 2019
(iv) a1, 2024

_:ﬁ%ﬁqfﬂﬁﬁﬁﬁﬁﬂﬁﬁ!ﬂﬂﬁﬂﬂm:

(@ (b)
A) @) @
B) @ @)
(C) (v) (@)
O O )

TBC : 24/ECP/I—A

(c)

(iv)

(idi)

(i)
(1)

(d)
(1)
(iv)
(2i)
(w)

12



15. Match List I with List II -

(a)
()
()
(d)

List 1
(Summit in 2024)
ASEAN
COP 29
BRICS
NATO

List II
(Location)
()  Baku
() Kazan
(i11) Washington
(v) Laos

Choose the correct answer from the options given below :

(A)
(B)
(€
(D)

(@ B @ (@
@ G v @
(@) () (@) @)

() ) W@ @D
(wv) @ @) (G

gt 1 = e 11| faam S

(2024 & for@y wwe)

gt 1

get 11

()
@ =
(i) FAA
(ig) @A
(i) S

9 fer Ty fawedl @ A W F A FED

(A)

@ B (© (@)
@ @) () @)

(B) @) () @) @)
(C) Gv) Gi) G @D
M) Gv) @ @) Gi)

TBC : 24/ECP/1—A

13



1T.

taxes and a hu
ge amo
unt of the revenue is sent out of the country, then any

country in the world wi
i1l bec
again and again.” ome permanently poor and will have o face famine

(A) Dadabhai .
ai Naoroji (B) Ramesh Chandra Dutt

(C) Gopal Krishan Gokhale (D)

7% g fomn i, "“aft seeel #1 s w1 S
ﬁmmagﬁmﬂﬁ’ﬂaﬂmﬂﬂmaﬁiam

Anand Mohan Bose
ﬁmﬁmm“im Hg @7
maﬁmﬂ‘ﬂﬁ'ﬂ-ﬁﬂ

A ST g
(a) TR A (B) TH9TE= <9
(C) Terere e D) FAE e A
the New Land Settlement 1IN

ch took place against
t against

ple of which Pargana first started a movemen

Dandra Movement, whi
Bilaspur in 1930, the peo

the land settlement ?
(B) Rampur

(A) Ratanpur
(D) None of these

(C) Bahadurpur
Wﬂqﬁgﬁaﬁﬁiﬁ#faﬁgﬁ ,

a'zumz'?m,aﬁmauﬁ
mmﬁﬁﬁﬂqﬁaﬂaﬁimmﬂﬂ@w

(A) TAY (B) WX

(C) FBEIR m T4 ¢
18. Who was the founder of “Balsan Thakuria” ?

(A) Moolchand (8) Kunwar Singh

(C) Harichand @) Alak Singh

e i & gew w1

W) e (B) w faE
= () e 6

14



19. Given below are two statements :

Statement I : The author of the book — “Pakistan or the Partition of India”
was Dr. B. R. Ambedkar.

Statement II : The childhood name of Swami Ramakrishna Paramhansa was
‘Gadadhar’.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

=¥ & weA fgw @ ¥ -

HaT I : “‘ufewm iR & wffvm e ifewr’’ — T @ s Sl #. AR
FagHT q|

wuT II : SH YFS GWHEE & F999 @ AH TRIER 471

Iufifefad w94 # uR W e Ry o faeed § @ w99 3fed swW w1 gaE

IS :

(A) F9 1 3R H9 I S §& &

(B) #97 1 3R oA II &1 7o ¥

(C) #9711 §& & 3R o7 II Mo ¥

(D) H99 I Tod & K F99 II 98t ¥

TBC : 24/ECP/I—A 15 | P.T.O.



20. Given below are two statements

» founded by
Statement I : “Bhartiya Rashtriya Samajik Sammelan was 1€ )

Swami Dayanand Saraswati in 1883.

. rnataka.
Statement II : Veda Samaj’ was established in 1867 at Ka

riate answer from
In the light of the above statements, choose the most approp

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
9= QA wu few @ F

w1 : "mmmm"ﬁmmmwﬁﬁ 1883
H @l 47

w97 11 : ‘3¢ 999’ & O wAew #1867 H g 4l

ufifafaa oAl % 3R W A fou T fawedi § ¥ wad 3fea I w1 gAm
wifed

(A) F99 I 3K %97 II <1 gdt &
(B) ®e I 3R Fo9 11 2Ff o §
C) #9791 9t & 3R F97 11 Toq 3

(D)‘WIW%@;WH@%

TBC : 24/ECP/I—A i



21. Given below are two statements :

Statement I : Chamba had its o’m currency since ancient times. This was

called “Chakli”.

Statement II : Raja Lalit Verman of Chamba had built two temples named
‘Chandragupta’ and ‘Kameshwar’ in Chamba.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Stai;ement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

= < FoF o mg ¥

FEA L : T A YN W@ Y A g5 Todt of, 3@ CSwet’’ a9

FOT I : T4 % TS W @} wva # usa’ i e’ A Qa9 aR
T 9

Eqﬁﬁmauﬁ'ﬁmmﬁﬁqnqw&amaﬁamww
i

(A) 9 1 3R o7 11 <9 udt §
(B) %99 1 3R %o II ¥ o &
(C) a7 1 &t & 3R &9 IT o 3

@)WIW?@?WHW%

P.T.0,



22. Arrange the following events related to Indian History " RIS
order : 4

(1) Formation of East India Association in London

(2) Formation of India League in Calcutta

(3) Formation of Satyashodhak Samaj

(4) Establishment of Bihar Scientific Society
Choose the correct answer from the options given L
(A) (4), (2), (1), (3)

(B) (1), (4), (3), (2)

(C) (1), (4), (2), (3)

(D) (4), (1), (3), (2)
wmﬁ@ﬁmﬁﬁmmmﬂ :
(1) v # = feq wHfewE F e

(2) ®adw # sfew &@m F e

(3) TS HHE H TSA

(4) faer wEfefrs dmEd F:1 T

Hra fau U fawed d @ W IW W T FY .

(A) (4), (2), (1), (3)

(ﬁ) (D), (4), 3), (2)

(C) (1), (4), (2), (3)

D) (4), (1), (3), (2)

TBC : 24/ECP/I—A 18



23. Arrange these Pre-Congress Associations in chronological order :
(1) Indian Association (2) Bombay Presidency Association
(3) British Indian Association (4) Poona Sarvajanik Sabha

Choose the correct answer from the options given below :

A) (), 3), @), B (3), (1), (2, @)
©) 3), 1, (1), (2 D) (3), (4), (2), (1)
FE F TN W TES B T WIS H) HAGAR HAGTd HISC
1) sfema wEfaueH (2) == JAEE et
3) fafew sfeza wafaee™ (4) TAT HESiAeh Gl
2 o o fawed # F W@ SR w1 gAE SIS
A ), 3), D, 2 B) (3), (D, (2), (4
(C) 3), (4, (), (2) : D) (3), (4), (2), (1)
24. Arrange the following rulers of ‘Suket State’ in chronological order :
(1) Bhimsen (2) Rudrasen
(3) Ugrasen (4) Lakshmansen
Choose the correct answer from the options given below :
A (2), (3), (4), (1) (B) (3), (2), (1), (4
©) 2), (1), 3), (4) D 3, (1), (2), (41
‘g T’ F Frafafee wewl ) wagan et 963
(1) =8 (2) =87
(3) SuHT 4) SEHUET
o R T fawedi § @ W@ Sw w1 T winy
(A) (2), (3), (4), (1) {(B) (3, (2), (1), (4)

©) (2), (1), (3), (@) D) (3), (1), (2), (4)

TBC : 24/ECP/I—A 19

P.T.0.



25. Consider the following statements :

(1) Paramhansa Mandali was established in Madras.

' t of Indian
(2) Alfred Webb was the first Englishman to become the President o
National Congress.

i ident of Indian
(3) Badruddin Tyabji was the first Muslim to become the President o

National Congress.
ici ' ird Round Table
(4) The Indian National Congress did not participate in the Third

Conference held in London.
Choose the correct answer from the options given below :
(A) (1) and (3) only
(B) (2) and (3) only
(C) (3) and (4) only
(D) (1) and (4) only
frefafaa @ | =R Hifrd :
(1)wéﬂm?ﬁaﬁwmmq§mﬁ§§eﬂl .
(2) HE 99, m@am%mﬁmﬁmﬁﬁaﬁa 1 .
(3) WW,WWE@H%MHW%@W [

(4) Wmm%ﬁﬁﬁmﬁamﬁaﬁﬁw&mﬁmqﬁm oqul
‘ﬂ%ﬁqmﬁﬂﬁ"ﬁﬁﬁ‘ﬂﬂwaﬂgﬂﬁmﬁﬁ:

(A) Baa (1) 3 (3)

(B) Baa (2) 3 (3)

(C) &aer (3) 3R (4)
(D) =aer (1) 3 (4)

TBC : 24/ECP/I—A 20



26. Consider the following statements :

(1) In 1910, at Allahabad Session of Indian National Congress was “Jana-

Gana-Mana” sung for the first time.

»

(2) Swami Dayanand Saraswati had hoisted the ‘Pakhand Khandini Pataka
at Allahabad in 1867 A.D.

(83) The last Act was the Charter Act of 1853 for the East India Company.
(4) The modern educated Indians also did not support the Revolt of 1857.
Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (2) and (3) only

(D) (1) and (4) only

Frefafes s9 W faer Fifsa -

(1) 9REE T 9 & 1910 $ saEER AfHawE § geet o SE-To-wa e
™ 9|

@) @it TR S ) yrEE wivedt T 1867 3. # sewEE § wEd |
(3) sifim wifufam = ifew Fwrt & fow 1853 =1 =X HAfufm@w @)

(4) smyfre fofem wwedl 3 o 1857 & fasie &1 guedq & fan

2 feu T fawedi § ¥ W@ IW w1 A HiF

(A) FFa (1) 3R (2)

(B) ®ad (3) 3R (4)

(C) &aa (2) 3R (3)

(D) Faa (1) 3R (4)

TBC : 24/ECP/I—A 21 P.T.O



97. Consider the following statements :

(1) The first Singh Sabha was founded in 1873 at Amritsar.

(2) Gyan Singh was the first President of Singh Sabha.
(3) Thakur Singh Sandhawalia was the first Secretary of Singh Sabha.
(4) Khalsa College, Amritsar was established in the year 1892.

Choose the correct answer from the options given below :

(A) (1) and (2) only
(B) (1) and (3) only
(C) (1) and (4) only

(D) (2) and (4) only

e Fo W fER FER

(1) uuﬂﬁ?wﬁwmlmaﬁeﬁﬁmﬁgﬁﬁn
2) Wﬁ's,ﬁigﬁmf%%ﬁmwaral

(3)Wﬁgwﬁmﬁgﬂm$qﬁqﬁa of

(4)mmﬁ,awﬁwaﬁf1892ﬁg§zﬁn

9 fro o fawedt § @ W@ SR LT HA
(A)ﬁﬁ(lysﬂt(z)
(B) e@ (1) 3R (3)
(©) Faw (1) 3 (4)
D) %t (2) st (4)

TBC . o,



28. Match List I with List II :

List I List II
(Governor General/Viceroy) (Major Events)
(@) Lord Lansdowne (i) Establishment of High Court in
Calcutta, Bombay and Madras
(b) Lord Northbrook (i) Indian Council Act of 1892
(¢) Lord Dufferin (fii) Third Anglo-Burmese War
(d) John Lawrence (iv) Kuka Movement in Punjab

Choose the correct answer from the options given below :
@ ®) @©@© @
A) @ @) @ Gv)
(B) @) @) @ @
© G G @
D) @ Gv) @) @
& I % gel 11 9 fiem s

gt 1 gt 11
- (TER SE/araaT) | (F=T e
(@) @€ THsTEA - (i) ST, g, HEN H 39 <A 1 Tl
() wrE el z (i) Ifea wEfaa R AE 1892
(c) «fE THA ‘ (i) T Ten-a9 g5
d) < @R ' (iv) ISE H e R

= Ry MU fasedi # 9 W@ SW w1 gAE S
(@ B @© @
(A) @ G G G
B) (@) @) Gv) @
(C) Gi) Gv) @) @
M) @) Gv) G @

TBC : 24/ECP/1—A 23 P.T.O



29. Match List I with List II :
List II

e (Formation Year)
(Association/Parties) ' 2
(@ Punjab Riyasati Praja Mandal (? i;ﬁ
(b) Adivasi Mahasabha f"f
(¢) Depressed Classes Mission (t273) 1928
(d) Independent Labour Party @) 1938
m the options given below :

Choose the correct answer fro
@ & (@ @

A) Gi) G @ @

B) Gi) @) ) @

©) Gv) @@ @ O

D) @) G @ @)
gt 1 @ gt 11 @ faam i

gt 1 geit 11
(TtfRTT/are) (1T aH)
(@ vmE fErd yon q98d @) 1906
(b) TSt FerHHT i) 1936
() feies wenfes i) 1928
@) ¥fedse o e (iv) 1938

A4 fw T fawed § ¥ 9 I W g @i
@ &) @ (@

A) G @) @ @)

B) @) Gi) Gv) ()

© ) G G) @

O i) Gi) @) ()

TBC - 24/ECP/]_ A
24



30. Match List I with List II :

List 1 List Il
(Newspaper/Magazine) (Publishing Year)
(@) Amrit Bazar Patrika @ 1913
(b) Harish Chandra Magazine (@) 1878
(¢) Bombay Chronicle (fii) 1868
(d) Bharat Mitra (v) 1872
Choose the correct answer from the options given below :
@ b @ @
(A) @) Gv) @) (@)
B) Gv) @) GG @
(© Gv) @) @ @)
D) @) @ O ()
gt 1 %1 gt 11 8 faem wifsd
gt 1 gt 11
(AuTERas /af>reT) (TeT9T aH)
(@) 3T FAR IR @ 1913
(b) s HSH (i) 1878
() WS TR (iii) 1868
@) W fir () 1872
o feq T fawed # § W W w1 g wifed
@ b)) @ ()
(A) @) Gv) @) @)
B) @) GiE) @ @
€) @) @) @ @@
D) @) @ G (o)

TBC : 24/ECP/1—A

25



31. Podu form of shifting cultivation is popular in which of the following states

of India ?

Ak Sdimd (B) Assam

e (D) Chhattisgarb

T A T Ay w B e § @ o 7 4 A0

" SN ®B) T

(C) = D) THETE
32. Shisgars are the skilled workers of :

(A) Polymer Industry (B) Glass Industry
(C) Drug Industry (D) Ceramics Industry

(A) ol s & (B) Iftem & #

(C) 3y z&m 4 (D) =t fagt s d
33. Lyons is.a major industrial town of :

(A) France (B) Spain

(C) Germany (D) Italy

A T s e e ¥ o
(A)m (B)
(C) St D)

i %

TBC : 24/ECP/I—A 2



34. Given below ar¢ two statements

Statement [ : Escurial is a famous structure of France.
Statement 1l : Brandenburg Gate is a famous structure of Jerusalem.

In the [ight of the above Statfementg, Chcﬁ)se the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

™ @ w7 few @ ¥ -
w9 1 : WHERE wE #t gfeg 9= B
®99 11 : Sea 12 Se9ad &1 U6 YiEg 99 2|

ffdfen Fodi & R W Ao g T fawed § 4 =g sfee sw w1 e
Fifed .

(A) F99 1 iR &ye 11 S 99§
(B) 97 I 3R &gq 11 <91 e &
© %9 1 & ¥ ofn o9 I 7o %
D) F7 1 Tom ¥ oiw w99 11 7 &

TBC : 24/ECp/_a -
P.T.0.



35. Given below are two statements :

f Tons river:

ta . 2 ry
Statement I : Patsari river is a small tributary © .
y . Shimla district.

n
Statement II : Patsari river originates near KharﬁPather '
pr'lﬂtre answ

In the light of the above statements, choose the most appre

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

" t
(C) Statement I is correct and Statement II is incorrec

i t
(D) Statement I is incorrect and Statement II is correc

2 @ wa kg M ¥
w1 : mﬁﬁu'qﬁaﬁwaﬁmﬁ%l
muzwaqﬁaaﬁmwﬁﬁamﬁwﬁﬁﬁﬂ%l
mmwawmﬁmmmﬁﬁmaﬁmwww
HIfSTd =

(A) ®gF 1 3R w9 11 3 w8 €

(B) o 1 3R wud I 2l e §

(C) $97 1 ¥ & 3R HuF II 7o ©

D) F99 I @ & IR FYF II 9& ¥

TBC : 24/ECP/I—A 28



36. Given below are two statements :

Statement I : Bara Shigri glacier was first surveyed by Walker and Poscoe
in 1906.

Statement II : Bara Shigri is the largest glacier in the state of Himachal
Pradesh.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Stat.ément II is incorrect
(D) Statement I is incorrect and Statement II is correct

Cop i i ﬁm-wmﬂqﬂ'ﬁﬁﬁﬂ 1906 # afet 3R uf=n g gaew feam
RIE R 1

&YT II : s et feoea wew T &1 999 991 Wi B

Sufifefen ®odl & emyR W AR Ry T fawed § A v sfe sw oW ge
Fifed

(A) %99 [ 3R wg= I <A 98t &
(B) w9 I 3R &9= 11 <Ff Tem &
(C) w97 [ T8 ¢ 3R %97 II 7o 2
(D) ®97 1 Tod & 3R FH I wé ¥

TBC : 24/ECPI—A 29 o



37. Arrange the following states of India from highest to lowest flood prone area :

(1) Bihar (2) Punjab

(3) Rajasthan (4) Uttar Pradesh
Choose the correct answer from the options given below :
(A) (2), (4), (1), (3) B) @), (), @), 3)
(C) 4), (3), (2), (1) M) (1), (3), (2), 4)

R e g gum—_————_ R AR

Hifed :
(1) feer - (2) TS

(3) T (4) TR W

3 fu T fawed § ¥ W@ S w1 G HIE

A (2), 4), (D), 3) (B) 4), (1), (2), 3)

(C) 4), (3), (2), (1) D) (1), (3), (2), (4)
38. Arrange the following centres of cotton textile industry in India from nOIfth

to south :

(1) Phagwara (2) - Cuttack

(3) Guntur (4) Tirupati

Choose the correct answer from the options given below :

(A) (1), (2), (3), (4) (B) @), 3), (2), (1)

(€) (2), 4), (1), (3) D) @), 3), (2), 4)

%ﬂmﬁms@w%ﬁmﬁ@aﬁaﬁmﬁﬁwﬁmﬁmﬁﬁ%

(1) wEren (2) wHeEH
(3) Tz (@) fowdfa
ﬁmmﬁmﬁﬁﬂﬁmﬁﬁﬁﬁﬁﬁﬁ:

A ), @, @), @ (B) (4), (3), (2), (1)
© @, @, @), 3 D) (1), (3), (2), (4)

TBC . 24fECP.’1..._A "



39. Arrange the f'nl]nwing countries of Europe from East to West :

(1) Ukraine (2) Belgium
(3) Poland (4) Germany

Choose the correct answer from the options given below :
(A) (1), (3), (4), (2) (B) (2), (3} (4), (1)
(C) (1), (2), (4), (3) (D) (2), (4), (1), (3)
T % frefafas 29 3 | | ofvem #1 ol =afem #1650
(1) T4 (2) afesam

(3) Wit (4) o

™ Ry M fawedt § @ w@ Im w0 gIE Fifed

(A) (1), (3), (4), (2) (B) (2), (3), (4), (1)
(C) (1), (2), (4), (3) (D) (2), (4), (1), (3)

40. Consider the following statements :
(1) Simhpal biosphere reserve is in Tamil Nadu.
(2) Panna biosphere reserve is in Madhya Pradesh.
(3) Bhadrak mangroves pertain to Odisha.
(4) Gulf of Kutch is the largest mangrove of India.
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (1) and (4) only
(C) (2) and (4) only (D) (2) and (3) only
frefafas w9 w faan i -
(1) foufeue smfia Savsa aferrg § fom &
(2) v sRfem Jevee 99 Ry o fem ¥
(3) ws= Tg &1 gayw sifem 4
4) ¥ F @E H W@ T 99d am fig ¥
T e T Eed § A W@ oW o m s

(A) Fa& (1) 3 (2) (B) Fad (1) i (4)
(C) Jad (2) 3 (4) (D) F5a (2) 3w (3)
TBC : 24/ECP/I—A 31

P.T.O.



41 Consider the following statements :
(1} Tel is n right bank tributary :;r Mauahanadi
. - s Nt .
(21 The delta of the Godavari river is lobate type

Bhima river originates from Ruj Mahal Hills

(3
long and rises from Satpurd Hills

(4} The Pengunga river i= 300 km

Choose the correcf answer from the options given below
(B} (1) and (3) only

(A) (1) and (2) anly

() (2) and (4) only (D) (1) and (4) only

I'I;ﬂﬂqﬁﬂﬁaﬂﬁfﬂﬂ#ﬁﬂmﬂ’rh

(2) mﬂqﬂmiﬁlrﬁmm{ﬁhimmh

(3 ﬁmqﬁmﬁmﬂﬂﬁﬁmtl

(4) ﬂ‘i’“ﬂﬂﬂﬂﬂﬁﬂi‘fﬁﬂtaﬂ’tﬂﬁﬁ‘ﬂﬂmﬂﬂﬁﬁ?ﬂtl

:ﬂiﬁqmﬁmﬁﬁﬂﬂmm :
(B) #aw (1) A (3)

(A) F7a (D) st (2)
() ®FH (2) 3 () (D) #Ea (1) s (4)

42. Consider the followi

(1) Essex city is famous for
(2) Leeds city is fumous for watches production.

(4) Baku city is known for cutlery industry.

ng statements -
ﬂ{tﬂiﬂﬂﬂri!lﬂ 1u!lruu'.tr]-;.:i.

(A) {2) and (4) only
@) (D) and (2) only

(1) wEe T
mﬂ'{umqﬁﬁﬁmimmtl
mﬁmﬁmﬁmﬁmmmh
) seER e | T
ﬂzmﬂmﬁﬂﬂﬂ'ﬂTﬂWW=
'{':‘*"’ﬂ!lh{-u B Fua (3) FH)
) %5 (1) ol (4) ) was (1) 3 (2)

m:m
32

ﬁﬂmm“ﬁ'ﬂﬂm‘ﬂﬂ=
i @ forg e



43. Match Lint 1 with List 11 -

List 1 List 11
(Glacier) iRangew/Region)
fa) Baltoro iy Pir Panjal
(b} Sonapani ()  Kanchenjungn-Everest
e} Milam (i)  Karnkornm
() Zemu () Kumaon-Gurhwal
(hoose the correct answer from the options given below
@) (B (o) L)
(A @D @ W e
(B) Go) (6 @ e
(M W B ) )
(M i ey 0 U
Tt | W o 11 & TeEe HifaR :
st | =t 1
(rafyram) (St &)
() WD (M i TE
(by wrE () WU
ey Toemm (i} WATREA
) ¥ (i) -
g frg m fewea 4 A TR T W g wifad
{a) ) [(e) (d)
(A) (i @ ) )
(B) () G0 W (¢ir)
() (i @ Gw) )
(D) i (o) @t

TBC : 24/ECPI—A

P.T



5‘!“—“ the forest cover arca/type with thoir ¢ s

R
Ll"_ ! Liwt T
lﬂnnﬂtfﬂﬂml Forest Cover) (Arva in sq. kms.)
@) Very dense forest above W 7100
70, percent
(8 Moderate dense forest iy 56,180
40 to 70 percent
) Open forest 10 percent (i) 15,443
to 40 peroent
() forest cover ifp) 3,163
(Choose the correct optons®
o ® ()
(A) o D un  ED
gy (0 ) o)
W) (i) ) (1)
My i W (i) i) )
mmimznmﬁu i & W EE = ORE gwa § faem s
et 1 gt 1
(R T AT grg (i ReeET)
(a) FWF T (T0% 7 wfies) © 7,100
(b) WER WU (40%-TOR) i) 5,180
() WA T 10BA0% Gin 15443
() 3,163

(f} HA IO
ﬁﬂqﬂqm#inﬁmmwﬁfﬂﬂt

(@) (b o) ()
(A} U} O () (6D
(B) () G Go) @)
) @ ey W (i
m i @ o) (ifi}

TBC : 24/ECPI1—A a4



45. Match List 1 with List I

List I List 11

(City) (River)
(@) Warsaw (f) Vistula
(b) Lisbon @) Tagus
(¢) Hamburg (iif) Elbe
(d) Bristol (ir) Aven

Choose the correct answer from the options given below :

(@) @) (© (d)

tA) @ @ ) (v

(B) “Gv) (@) (@ )

(C) G (v & i)

M @ @) G )
L w108 faem el .

W I qﬁ"r I

i ()
(@) =/ =0 @ fre
®) fowm @) =
(c) W (Hl'—‘} 'E_ﬁ
(d) fa=s ) T

44 o o et § @ o sw w1 a9 S .
(@) (b) f(e) (d)
(A) ) @ Gu) )
(B) () @) @ &
(@ G G @ (@)
o B @ @ W

TBC : 24/ECPI—A 35
P.T.C



& Who deseribed the Indian economy ns “Bullock Cart E
] ; LConomy” ?

(A) Granville Austin (B)  Atul Kohlj
() Lloyd and Sussane Rudolph () Rajni Kothari

Frard MY aﬁmwmﬁam;mmm —_

(A) Irfast st (B) @ Frest
(C) otaE T HE TEeE (M T Frad

, ! o " 'I“ . l.lr
47. Council of Ministers size has been restricted to 15 percent of membersi]

Lok Sabha by which constitutional amendment ?

(A) 91st Amendment (B) 92nd Amendment

(C) 95th Amendment (M 103rd Amendment

frm W S g WO 8 e e wn A Aee o 15 ufeema
wifm w1 T ? '

(A) 918 HIA (B) 92d T

(C) 955 | (D) 1038 FIA

48. Who among the following was not 8 member of the Advisory (ounci! for Himachal

Pradesh which was constituted on Sept. 30, 1948 7

{A) Swami Purnanand (B) Mehta Avtar Chand

(C) Lila Devi (D) Satya Dev Bushahn
30 faa=ay 1948 71 A fewad w9 F1 GemdTq [ 6 = 6 8§ 21 9=

T a7
(A) TR qUia=s (B) WEal W w7
(C) wien &4t (D) ¥eW <& e

TBC : 24/ECP1—A 36



49. Given below are two statements :

Statement I : Finance Minister is final authority to decide whether a bill

is money bill or not.

Statement II : In Indian system of ‘dyarchy’ was introduced by Government
of India Act, 1935 during British period.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement 1 is incorrect and Statement Il is correct

4 2 wya fay ¥

waa 1 : # fam o faw ¥ @ o e o fofl faw o0 w2 &)

e I : fafen w0 § e sfufm, 1935 & g wia d gy wmeR'’ Wy
farar T

Iffafan Fad & amn W AR fay o fawed 4 A wad faw sw oW
wifad .

(A) F9q | 3w 11 26 | &

(B) %94 | 3 %97 I a1 7em §

(C) w97 1 98 & 3 %94 I Tem &

(D) %o | 7o & ot w9 1w ¢

TBC : 24/ECPA1—A 37 | PT.O



50. Given below are two statements :

Statement I : B. R. Ambedkar started Vaikam Satyagrah in 1924 for temple

entry of untouchabhles.

Statement Il : Jyotiba Phule was not associated with Republican Party.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I 18 correct and Statement 1I is incorrect

(D) Statement I i8 incorrect and Statement Il is correct

ﬁﬂmﬁqﬂq%
w1 : a@ﬁﬁwﬁr{ﬁm%ﬁaﬁmﬁminmﬂmmm
&

wad 1 ; wifee w@ fooferes ol @ wWafea 7@ 91

it Fot % avm W A Ry Mg fred d § w3 sW F T
wiftad

(A) =99 | 3im %99 11 =1 w81 & ;
(B) F4 1 3t %A [1 21 o &
©) ®7 1 wh & o S 11 7o &

m}WIﬂm%aﬂ{ant

TBC : 24/ECPA—A "



51. Consider the following statements regarding Panchayati Raj system i Himachal
Pradesh.

Statement I : In 1949, the Punjab Village Panchayat Act of 1939 was

enforced and 132 panchayats were established in Himachal.

Statement Il : By the end of 1956, there were 466 Gram Panchayats and
96 Tehsil Panchayats in Himachal,

Choose the correct option from the following :

(A) Both statements are correct

(B) Only statement I is correct

(C) Only statement II is correct

(D) Both statements are incorrect
ﬂ#ﬁﬁ!&ﬂﬁa‘mﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁﬂmﬁﬂﬁﬂﬂﬁ:

s 1 : 1949 § doma mm vemma afufEe, 1939 @ fE@ T s 132 T
femrae # wafm @ W)

o 01 : 1956 % 3ia wF fomaw # 466 UM THE 3T 26 wEHrE TwEd At

freifafea famed § & w8 3w 9fC -

(A) ¥ wua wE F

(B) faw w9 1 &8 ¥

(C) faw =g I 56 ¥

(D) o wgq @ A6 &

TBC : 24/ECP/I—A 39 B



(1) This act came into foree on 12 October 2005,
(2) It repealed the Officinl Secret Act, 1923

(3) It replaced the Freedom of Information Act, 2002. i
peech under o

cle 19

(4) It does not protect freedom of expression and &
Choose the correct answer from the options given below -

(A) (2), (3), (4)

(B) (1), (2), (3)

(©) (@), (4), (1)

(D) (1) and (2)

Prerff % @ ai wur g @ R s & @i A WY

(1) =g sfufam 12 smEgEe, 2005 #1 @0 &1

(2) T TR i sfafm, 1923 W Foe w8 R

(3) TEY HEW F T afuf, 2002 W wEE fon

(4) TE IPR 19 # WA wEw @ st F ST A g weE T s w
a4 fay m fawed § R W@ IR W @ FIEA

(A) (2), (3), (4)

(B) (1), (2), (3)

(C) (3), (4), (1)

(D) (1) & (2)

TBC : 24/ECP/1—A 40



53. Consider the following statements :
(1) Baba Kansi Ram was a great freedom fighter of Himachal Pradesh,
(2) He was influenced by Gadar Party.
(3) He took oath to wear Black Clothes till India gets independence.
(4) He was given name of “Pahari Gandhi” by Sarojini Naidu.
Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (4) and (2) only
fFefafan Fed W faaw i
) T i T e vt § T A
(2) 9% ®Y & | wfam 4
@) ¥ v & 5w w o Wi T s ae
(4) &€ i g 3 veE " am e
N fg m e 4 A W@ W wm wi
(A) F@ (1) 3 2)

(B) ®a# (2) afr (3)
(C) F=@ (1) 3 (3)
D) #77 (4) 3l (2)

TBC : 24/BCP1—A a1 o
1.0,



54. Consider the following statements :

(1) Mandi was first state in Shimla Hill States in which Panchayatj Raj Act
was passed.

2) During freedom movement Lala Lajpat Rai never visited Mandi.
(3) Non-cooperation Movement did not start in Himachal Pradesh.
(4) Rajkumari Amrit Kaur from Shimla conducted Quit India Movement.
Choose the correct answer from the options given below :

(A) (1) and (2) only
(B) (2) and (3) only
(C) (3) and (4) only
(D) (4) and (1) only -
frfafad wed | faer S
(1) e feo a4 A4St veen U9 o1 SRl vEE U9 HEA 9E geA |
(2) = <o % A A devd T wE HE A8 ey
) A e e W § wos T g
@) T smERR ¥ e @ wRa Sy e Sed

TR el § 3 @ aw W g R
(A) 3@ (1) air (9

B) %9 (2) i (3
D3 (4 et (g

TBe ‘
42



55. Consider the following statements -

parliament.

(2) Centre an
d States have equal power to amend the constitution.

(3) Amendm '
! ent in the seventh schedule requires the ratification by the
legislatures of not less than half of the states.

(4) Basic structure of the constitution can also be amended.

Choose the correct answer from the options given below :

(A) (1) and (3) only

(B) (2) and (3) only -

(C) (4) and (1) only

(D) (2) and (4) only >

frafafead Fo | faar #ifad .

(1) Gauits dvim fad 99 & fedt off 9ea § Tw foar =1 @&an ®

(2) TfEUR & TIEE H UG 9 B B GHA HEHR W@ €

(3) Ty 31 Tt st § ufady 3 o @ st T faum ol # @i
T B

(4) dfaum @ g o § of FeeE e S e T

9 fw Mo fawed § § W SW F LA FiA

\(A) @ (1) ¥R (3)

(B) et (2) 3R (3)

(©) Faw (4) 3 (1)

D) Faw (2) ik (4)

I me —— o " P.T.O.

‘b .



56. Consider the following statements :
Which of the following are included in the original jurisdiction of Supreme

Court ?
(1) A dispute between Govt. of India and one or more states.

.(2) A dispute regarding elections to either House of Parliament.
3) A dispute between Govt. of India and a Union Territory.

(4) A dispute between two or more states.

Choose the correct answer from the options given below :

(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (4) only
(D) (3) and (4) only

frefafan w9 W foerR &9 :
frafafag § @ R Tales AT % YRANE AfasR &9 § 3 § 7

(1) W 9@R 3R @& a1 tH 9 s T % 9e faar
(2) WO & foeft ff w7 ¥ wafyg 979 & faem

(8) WRT WER 3R Fgwnfed wRw ® Hey faEr

@ AW A s 7o B wey e
ﬁmmﬁw‘}ﬂ'ﬂﬁﬁ?wwﬁﬁﬁﬁ:

) F3@ (1) 3 (2)

B) #79 (2) st (3)

© %7 1) st (g

D) T @) et (g

TBC . 24/ECp. s
44



| ments - .
57. Consider the following state tion in the Constitution of Ingdis
. of no-confidence MmO
(1) There is no mention ©

:  house of the Parliament.
fidence can be introduced 1n &0
(2) A motion of no-confidence

+ of Parliament.
) A money bill can be tabled in either hOUSe

11l to the Lok Sabha for
4) The President cannot return & nonsy .

reconsideration.
Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (3) and (4) only
(€) (1) and (4) only
(D) (2) and (3 only
Frefafen ol w fram st .

(A) Faa (1) 3R (2
(B) 9 (3) 3 (4)
(C) 7= (1) 3l (4)
(D) &aa (2) 3R (3)

45
TBC : 24/ECP1—A P.T.0.



57. Consider the following statements

tion
(1) There is no mention of nuﬁﬂﬁdenﬁ mo
introduced in any house of the Parliament.

in the Constitution of India,

(2) A motion of no-confidence can be

(3) A money bill ean be mb]ed in 'Eit-her hl:llu_ElE ﬂf Pﬂrhﬂmﬂ‘ﬂt.

(4) The President cannot return & money bill to the Lok Sabha for

reconsideration.

Ehﬂﬂﬂe the correct answer from the I:I'Ptiﬂﬂﬁ E‘i\lﬂﬂ below :

(A) (1) and (2) only

(B) (3) and () only

(C) (1) and (4) only

(D) (2) and (3) only

Frefafan s w firam =100

(1) ¥ & wfam § sfavam yom @ =@ 1@ §)

(A) HFa (1) 3R (2)
(B) %9 (3) &R (4)
(C) #aa (1) 3T (4)
(D) Faa (2) v (3)

TBC : 24/ECP1—A 45
P.T.O.



ents - ; .
tatem tion in the Constitution of India.

o-confidence ™°
: f the Parliament.
' ced in any house o
e introdd

57. Consider the following §
(1) There is no mention of n
(2) A motion of no-confidence ¢20

. eithe
(3) A money bill can be tabled 11 bi
t return 2 money !

r house of Parliament.
11 to the Lok Sabha for

(4) The President canno

reconsideration.
Choose the correct answer from the options given below :
-(A) (1) and (2) only
(B) (3) and (4) only
(C) (1) and (4) only
(D) (2) and (3) only |
Frefafen Foit w fem #ifed @
(1) sRa # dfaum § favaw vaE & 0@ & ¢
(2) sifavar &1 yee w52 F 5 off we § g few o w@war 3
@) o fovws o @ o v F v e w1 wear B
@) T o e W e S T g e
ﬁmwﬁmﬁﬂuﬂmmﬁqﬁaﬂm,
(A) FE (1) 3R (2)
(B) %ae (3) AR (4)
(©) =5 (1) 3R (4)
(D) Faa (2) 3R (3)

TBC : 24/ECPI—A 45
| P.T.O.



58. Match List I with List II :

List I

(@) Habeas Corpus Writ | @)
() Mandamus Writ

(¢) Certiorari Writ
(d) Quo Warranto Writ

List 1I
Re-examining Lower Court records
by Superior Court
(i) Exercising Power under which
authority
(iii) Restricting ofﬁ;:ials to act

(tv) To produce in person

Choose the correct answer from the options given below :

@ B @ @
A &  G) Go) (i)
B) G ) @) Gv)
(C) Gv)y Gi) &) (D)
M) G Gv) @) Gid)
T I w gt I R faem #ite
(@) Wi&:rm TR ; it
G) afts =maeE ga = e & e =
Sif=r |
(b) HTHEH Gi) Test @ & oA wifsm wam
(€©) JH W Gii) T = FEEE W Aw
(d) fgFRg=s1 smew (v) =AfFTa w9 § sufeem
#9 feu U fawmedi § A @@ IW F FAE HifSd
(@ B) @ @
(A) (&) @G Gov) @Gi)
(B) Gi) @) @) @)
(C) Guv) @) @ (@)
(D) Gi) Gv) @  Gw)

TBC : 24/ECP/1I—A
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59. Match List 1 with List II :

List 1 List II
(Commissions) (Years of Establishment)
(@) National Commission for Women (1) 1953
(b) National Human Rights Commission (7)) 1992
() Kaka Kalelker Commission (i) 2005
(d) National Commission for Protection (v) 1993
of Child Rights

Choose the correct answer from the options given below :
@ ® @ (@
A @ G O @)
B) @ @ 6@ G
€) Gi@) @) Gv) @
D) @) @) @ G
T F o0 e wi

et 1 gt 10
(3marm) (TaTaT 7))
(@) T Hfeen s @ 1953
(b) Tt wrEyR S (i) 1992
(¢) STH HreeHT S (i) 2005

@) T o afwr gwan s () 1993

R oy M P F @ W@ I W o AR
@ @ © @

A G) G @& G

B) @) @) G ()

©) G G) Gv) @

M Gv) G O @)

'BC : 24/ECP/1I—A 47 PTO.



60. Match the Members of Legislative Assembly of Part ‘C’ state of Himachal Pradesh
from Mandi District (1952-56) with respective constituencies :

List I List Il
(Name of the Members) (Name of the Constituency)
(@) Gauri Prasad : (1) Joginder Nagar
(b) Karam Singh Thakur () Karsog
(¢) Besar Ram (iii) Rewalsar
(d) Rattan Singh (;v) Mahadev

Select the correct choice :

(@ B @ (@
(A) @) @) @) @)
B) @ @) ) (v
© G @ G G

D) Gv) G G @)
T frd @ (1952-56) ‘TE @' U9 B fauE w1 weE F1 I fAUE w9 g

&y ¥ faem #ifed
et 1 get 10
(FFE & W) ()
(@) TR 9ERG @) Sfx TR
(b) wd g IH () FHEM
(c) &8 TH (it7) Tamew
(d) T fas (iv) HeRd

4 frg M fawed § @ WH IW T L FO
@ ©® © @ |

A) @) G @ 6@

B) G @) O @)

© G @@ @ G

O @ @@ @ 0

TBC : 24/ECPH—A 48



§1. Till when the Indian government has extended the Pradhan Mantri Gharib

Kalyan Anna Yojana ?

(A) December 2026 (B) December 2027

(C) December 2028 (D) December 2030
Wmﬁmﬁﬁﬂﬁawﬁmaﬂﬁﬁmﬁmt ?
(A) fegar 2026 (B) famsw 2027

(C) femaw 2028 (D) fews 2030

62. Economic Growth in country X will necessarily have to occur if :

(A) There is technical progress in the world economy

(B) There is population growth in country X

(C) There is capital formation in country X

(D) The volume of trade grows in the world economy

dn X § anftfe fawr sfrard w9 @ @ ARG AR

(A) fava sdsmaen # qedt wifa &

(B) 3w X ¥ wagem fs ¥
(©) %o X § Ist Fmfor #

(D) fava sdegawan § =R & AR WG ¥

BC : 24/ECP/I—A 49 P.T.O.



63. Suppose, the poverty line as measured by Einnth_lj\_' Per Capikta Expenditure
is Rs. 1,000..

MPCE (in Rs.) of 10 Households

State A| 800 | 850 | 900 | 950 | 1200 | 1100 | 1150 | 1050 | 1250 | 1300

State B| 400 | 450 | 550 | 650 | 1100 | 1200 | 1300 | 1350 | 1250 | 1400

Statement I : Head Count Ratio of State A is less than Head Count Ratio
of State B. .

Statement I : Pov-e—r"ty Gap Ratio of State A is less than Poverty Gap Ratio
of State B.

In the light of the above statements, choose the most appropriate answer from

the options given belowhpexams.in

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

7 S, Wi Wit sfw o g ot v et Y 1,000 T %

10 9ftai =1 wadEtE (v i)

T A 800 | 850 | 900 | 950 | 1200 | 1100 1150 | 1050 | 1250 | 1300

T B 400 | 450 | 550 | 650 | 1100 | 1200 1300 | 1350 | 1250 | 1400

PETL: T AF T FE 90 T4 B & ¥ Fe oum F 59 ¥
WH:WAWWWWWBa?WWWth
wmﬁ%@wﬁ%wwﬁmwﬁm'ﬁ%mmmwm
(A) %99 I 3R w99 11 94 @8 3

(B) %91 I 3R weq II 3F Teg §

(C) %o 1 §& ¥ 3R =e7 II o &

(D) F97 1 7o ¥ 3R weq 11 wet &

TBC : 24/ECP/I—A 50
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TBC : 24/ECP/I—A 51

4. Given below are two statements :

Statement I : Trickle Down Theory says that let business flourish, since their
profits ultimately trickle down to lower income individuals.

Statement II : Economic Theory predicts that inequality will increase during

recessions and decline during economic booms.
In the light of the above statements, choose the tost appropriate answer from
the options given below :
'(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

4= & w9a fgu v ¥ -

waq I : foFa T @1 Fedl & fF S1&9@ B Fer-Hed &, i ITR T
3ad: 9 A G SGGd & 9" g T ¥

&7 II : i fagm vfasmamh s § fF w6 $ 3R smaEa st 3R anfds
I F A frme st

Fuitfafea Foi & smm W AR fu o fawed § ¥ @ ofw sw oW e
Hifsd

(A) F97 1 3 w97 11 2N w
(B) %94 I 3N 99 I 3 Toq §
(C) F97 | Wél & AR %97 1l Tom &
(D) %97 1 Te@ & ol FoA 11 wdt

P.T.O.



65. Given below are two statements -

Statement I : As of December 2023, around 1.3 crore candidates have
received training under PMKVY.

Statement II : Out of these candidates around 60 lakh individuals have been
placed.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

4 3 w9 fGg mu ¥

HuT I : frgar 2023 9%, @9 1.3 S8 Iafieand 3 PMKVY & asd wfaem
wrs fEa &

w99 II : =7 3Iaficard # ¥ omwm 60 or@ =afFadl & A% & T ¥

fifefaa F9i ® @R W A9 fy T fawed # 4 R 3@ IW F T
HIa

(A) F9 1 @ g7 11 < wdl &
(B) ®%F 1 3l w9 I ¥ 7o &
(C) %97 | 98 & 3R ®vF I e ®

(D) Fo I e ¥ AR wET I W ®

TBC : 24/ECPI—A 52



Statement I: The volume of E-way bill generation in India continues to
grow steadily.
Statement II : Rail freight traffic and port cargo traffic are growing at a

healthy pace.

In the light of the above statements, choose the most appropriate answer from

the options given below -

(A) Both Statement I and Statement II are correct

(B) Both Statement T and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

A2 & wa feq g ¥ .

HET I : 9Rd d -3 fae SwHA #1901 96N 9% @8

FEA I : @ T AT SR Sgee S0 gaEe @ T @ 9g @ R

Wﬁ%@amﬂﬁwmﬁﬁquaﬁﬁﬁﬂmmmmw
ity

(A) =99 1 3T %99 I = 9 §
(B) %99 1 3R %94 II =1 Tod &
(C) 99 I §ét & 3 &7 11 Toa ¢

(D) w97 I Toa & AR o 11 98 &

'BC : 24/ECP/I—A 58 B0



67. Consider the following Health programmes and policy :
(1) The National Health Policy
(2) National Health Mission (NHM)
(3) National Rural Health Mission (NRHM)
(4) National Urban Health Mission (NUHM)

With reference to the Health programmes and policy mentioned above, in terms
of their starting year which one of the following is the correct order year ?

Choose the correct answer from the options given below :
(A) (1), 3), (2), (4)

B) (1), (2), (3), (4)

(©) (2), (4), (1), (3)

D) @), (1), 3), (2)

frafafas @ s a &k gl w faar =153 .

(1) <" @rReE Hifa

(2) T @ faeA ()

(3) T A e favE (TeRTETE)

4) TS vEd wre favA (TAguEE)
Iufifafas @ FEEH 3 Fifa £ = § 395 wmivs ad & g=d § fr=fataa
F8 P o e owyoad 2

3 Ry Ty fewedi § @ WA IW F A FRA
(A) (1), (3), (2), (4)
(B) (1), (2), (3), (4)
(C) (2), (4), (1), (3)
D) @), (1), @), )

TBC : 24/ECP/I—A 54



68. What is the correct order of various social service schemes in India according

to year of origin ?
(1) Pradhan Mantri Jan Dhan Yojana
(2) Sukanya Samriddhi Yojana
(3) Rashtriy Swasthya Bima Yojana
(4) National Social Assistance Scheme
Choose the correct answer from the options given below :
(A) (1), (2), (3), (4)
(B) (4), (3), (1), (2)
. (C) (4), (3), (2), (1)
(D) (1), (2), (4), (3)
mﬁﬁﬁamﬁmﬂmﬁwﬁmmﬁﬂﬁsﬁmw““‘t ?
(1) warA HE 9 R A
@ e wgfe e
(3) Mg e | A
«4) =R g qeEd de
9 fou m fawed # ¥ W IW F A i
(A) (1), (2), (3), (4)
(B) (4), (3), (1), (2)
(C) 4), (3), (2), (1)

(D) (1), (2), (4), (3)

TBC : 24/ECP/I—A 55 P.T.O.



: S, aside
69. With reference to the steady decline in the mortality rate over the years, consider
the following statements :

(1) Control of epidemics such as cholera and smallpox
(2)
(3)

(4)

Expansion in incidence of malaria and tuberculosis
Contraction of education and decreased literacy

Improved sanitation and hygiene.

Choose the correct answer from the options given below :
(A) (1) and (4) only

(B) (2) and (3) only
(C) (1) and (2) only
(D) (2) and (4) only

e oo a6l 4 ygq = § war firme & g #, froafafas w949 o fa=w
wHifaa

(1) ¥ R Suw AR wemifE w FrEw
(2) #Hefn ik oifts =1 weaiel § famr
(3) Toanm =1 W= 3= mawar & =t
(4) === IR wWrE-wwE #§ gur

9 g T fawedt § @ wf s w1 g SR -
(A) Faa (1) 3R @)

B) Haa (2) 37 (3)
(C) =as (1) 3R (2)
(D) =has (2) 3T (4)

TBC : 24/ECP/I—A 56



70. Consider the following statements :
(1) Himachal Pradesh Government approved an outlay of 1200 crore rupees
for economic services during 2022-23,

(2) Himachal Pradesh Government approved an outlay of 267 crore rupees
for rural development during 2022-23.

(3) Himachal Pradesh Government approved an outlay of 140 crore dl'upe:ﬂ
for Mahatma Gandhi National Employment Guarantee Scheme during
2022-23.

for
(4) Himachal Pradesh Government approved an outlay of 22 crore rupees 10
Forestry and Wildlife during 2022-23.

Choose the correct answer from the options given below :

(A) (1) and (3) only

(B) (2) and (3) only

(C) (1) and (2) only

(D) (3) and (4) only

frefafes Fo9 | fGEn Fifed

(1) Wmmﬁzmmﬁmaﬁmﬁmﬁ%ﬂwmnmm
3 e #1 g A

2) muammnmmmmm%mmmma
ofem # wd 9

(3) &mmmim-%ﬁmmﬁmmm’rm%
i 140 T T F Tem B d A

(4) mmmamzmmmmmamnm
¥ & e & Al A

A2 for Mo fawed § @ W IW T TE B
(A) #Fae (1) 3 (3)
(B) #a (2) 3 (3)
(C) #Fam (1) 3 (2)
(D) #ad (3) 3 (4)

TBC : 24/ECP/I—A 57 e



71. Match List I with List II :

List 1 List 11
(@) Sandeep Shastri () “Gender Demographics and
Empowerment in India”

() Kalpana Srivastava (i) “Demographic Profile and Health
Status of Older Adults in India”

(¢) N. Neetha (i) “Demographic Dividend in India :
Myth or Reality”

(d) Mridul Eapen (iv) “Demographic Shift and its Impact

on Indian Politics”

Choose the correct answer from the options given below :
@ @) © (@
A) @) @ @ G@)
B) @ @ Ga) (@)
©) () GG O D
M @& @ G @@
T IR g 1 gifea wifEe

it 1 gt 1

(a) wEtw wmest @ ‘“‘wra # fam saifemst i st

(b) FETT SitareT @) “EifErE WrEEE i wRE § g a9
H @y ferfq”’

(€) @ @) “wma § SeeiferEm amie - fags
Frafama 2

@ T/ TH (v) *orEiferT aTea st s TeEfs W
TEEH gvE’

R Ry m fawedt § /ol I w1 g A .
@ ® © @

@) @@ O G )

(B) @ @@ @@ G

(C) Gv) @ @ &)

M & @ @ G

TBC : 24/ECP/I—A 58



72. Arrange the following Committees in proper chronological order of their

establishment :

(1) Alagh Committee (2) Tendulkar Committee
(3) Rangarajan Committee (4) Lakdawala Committee
Choose the correct answer from the options given below :

(A) (1), (4), (2), (3) (B) (2), (1), (4), (3)

(C) (4), (2), (3), (1) (D) (3), (2), (1), (4)
ﬁﬂﬁfﬁ@ﬂﬂﬁﬁr&iaﬁwvﬂm%sﬁﬁwﬁmﬁmaﬁﬁﬂ :
(1) e wfafa (2) dgeret wiafa

(3) T gfafa (4) wweEen afifd
ﬁﬁquﬁﬁ'ﬁfﬁﬂ“ﬁﬁ?ﬂﬂﬂ?ﬁﬂﬂﬁﬁ:

(A) (1), (4), (2), (3) (B) (2), (1), (4), (3)

(C) (4), (2), (3), (1) D) 3, (2), (1), (4)

73. Arrange the following events in proper chronological order :
(1) Mahbul-ul-Haq prepared the HDI (Human Development Index)
(2) Morris D. Morris developed the PQLI (Physical Quality of Life Index)
(3) Alkire and Foster developed the MPI (Multi-Dimensional Poverty Index)
(4) The term ‘Gross National Happiness’ coined by Bhutan's king Jigme Singye

Wangchuck
Choose the correct answer from the options given below :
(A) (1), (4), (2), (3) | {B) (2), (1), 4), 3)
(C) (4), (2), (1), (3) D) @), (@), (1), 4

frefafaa gemsii #1 faq Fm@gFEn 4 =afem sid .

(1) Hega-3@-7% 1 UFaien (WA fasm guse) far fem

(2) #ffm & °f@ 3 PQLI (frfowa safeed! it wmw 2ew) fasfaa fra
(3) ufewt 3R WrReX 7 MPI (agemamdt T+ gueis) fasfas fea

(4) 4zA & Ton fomd 62 args gR e T ‘wee U @’ we

2 feg Ty fawed d ¥ W@ IW T @ AR

(A) (1), (4), (2), (3) -(B) (2), (1), (4), (3)
(C) (4), (2), (1), (3) D) (3), (2), (1), (4)

[BC : 24/ECP/I—A 59 P.T.O.



74. Match List I with List II :

List I List II
(@) SDG 2 (i)  Decent Work
() SDG 5 (i) Zero Hunger
(¢) SDG 8 (i) Gender Equality
(d) SDG 10 (iv) Reduced Inequality

Choose the correct answer from the options given below :
@ @) @ (@
A) @) @ O Go)
(B) @ (v) G@) @)
© Gu) @) @ @
M G) @ @ @)
gt L% = 11 ¥ faem =g .

et 1 gt 11
(@) TEET 2 @) §F FW
(b) TESTSt 5 @ Y348
(c) wwSTst 8 (i) T FH
(d) TgeErst 10 (ip) FEaHa § &t

#3 fog Mo fawedt § @ WE I F G FA
@ B @ @

A) G) G @ @)

®B) () G @) @

€) G @ @ @

M) G @ @ &)

8C : 24/ECP/I—A 60



75. Match List I with List II :
List 11

List I
(@) Chronic Poor () Below the poverty line most of
the time

(6) Churning Poor “(ii) Rich most of the time but
sometimes, out of a business

fluctuation become poor
(i) Always above the poverty line

Regularly move in and out of
poverty

(¢) Non-Poor
(d) Occasionally Poor (iv)

Choose the correct answer from the options given below :

@ ® @@ @
(A) @) @) @ )
“B) ) @) @) @)
(© G @) Gy 6
M G @ @ Gi)
gt 1 & gt 11 4 foem =ik -

gt 1 gt 10
(@) i TTa () URRR 999 et @ & Ae
(b) HEd T () SRR GG YAt B € A Fe-Fvt |en
# JR-g¢E ® SO TE A IR F
(¢) - (i) wAm TE W@ ¥ FW
(d) Fit-Fdt T (iv) Frafie 9 & e @ sy iR amt S

2 feu T el § A wH SR w1 A A
(@ B (@ (@)

(A) (@) @) @) ()

B @ @ G @

(C) (@) @ @Gv) @

O @ 6 G D)

BC : 24/ECP/I—A 61 oo



76. The marginal productivity of disguised unemployed workers is :

(A) Zero (B) Not zero

(C) Less than zero (D) Greater than zero
T A sfFwl F1 9NE SORET § o

(A) ¥ (B) Y& T

(C) Y= 3 +ft ¥ D) 7= | off 791

77. What percent agriculture and its allied industries account for the total Gross
State Value Added (GSVA) of Himachal Pradesh ?

(A) 13.70% (B) 10.61%

(C) 15.10% (D) 14.91%
mmﬂmmmmmm@wmaﬁhmﬁmm
T2

(A) 13.70% (B) 10.61%

(C) 15.10% (D) 14.91%

78. Arrange the following years based on the number of foreign tourist arrivals
in Himachal Pradesh in descending order :

(1) 2020 (2) 2021

(3) 2022 (4) 2023 (up to December 2023)
Choose the correct option :

(A) (4), (3), (2), (1) (B) (4), (1), (3), (2)

(C) (3), (1), (2), (4) D) (3), (4), (2), (1)

A4 fer U AW w fearma wew § faRvit vdewi @1 o wem W s i
#F0 4 fafed :

(1) 2020 2) 2021
(3) 2022 “(4) 2023 (e 2023 )
et faweq gAY :
(A) 4), (3),(2), (1) (B) (4), (1), (3), (2)
) (3), (1), (2), 4) D) (3), 4), (), (1)

62
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79. For the year 2022-23, match the Industry sub-sector in Himachal Pradesh with
the percentage of workers emploved in them :

List | List II
(Industry Sub-sector) (Percentage of Workers Employed)
(@) Mining and Quarrying () 2
(b) Manufacturing (i2) 41
(¢) Electricity and Other (i) 50
Utilities
(d) Construction (w) 7

Choose the correct option :
@ b @© @
(A @) @) Gv) Gi)
B) @ Gv) Gi) &
C) Gv) Gi) ) @)
M) @ & G G

aﬁmzz-zaﬁﬁqmam%mﬁﬁ:mhmmm(m)ﬂﬁm
Eime i

gt 1 et 10
(I ) (Pt st =1 gfawmm)
(@) @ @ IGT (@ 2
(b) 3T @ 41
(c) faoredt a=n s sudfiand (i) 50
(d) fmfo Gv) 17
el fawen gfm .

(@ @) () (@

(A) @ @ () &)
B) @ Gv) G O
(C) @) @) @ @)

, D) G GO @ (G

BC : 24/ECP/I—A 63 P.T.0.



80. For the year 2023_24. match the typejname of haﬂks W'lt.h their total nl.lm.bﬂ[‘

of branches in Himachal Pradesh :
List I
(Type/Name of Bank)
(@) Public Sector Banks (PSBs)
() Private Sector Banks (PSBs)
(¢) Himachal Pradesh Gramin -
Bank (HPGB)

(d) Himachal Pradesh Co-operative
Sector Banks

Choose the correct option :
@ &) @© @
A @@ O  Gv) @)
B) @) @) GiE) 6
€ ® G GG G
M) @) @ Gv) G

List I1

(No. of Branches in HP)

i) 267
(ii) 568
(@) 1,170

(iv) 274

feuraa W H 9 2023-24 & fow T @ wHEwWAT F ITE W@ B TS H

mwfnm:
et 1
(&t & W)
(a) WSt &3 9% (N w8 &t ™)
®b) Tt &5 3= (fF ww &t W)
(¢) feur=a v oo &= (us 9 S &)
(d) femresr B9 wewrd @3 d&
ﬂﬁmﬁﬁ'ﬂ[:

(A)
(B)
©)
D)

(a)
i)
()
(z)
(zii)

b @ @

(@)

()
(iv)
(&)

TBC : 24/ECP/1—A

(i)

(i)

(i)
()

(1)
@
(az)
@
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(vrrard)
@ 267
(i) 568
Gii) 1,170
(iv) 274



81. Gir National Park was established in the year :

(A) 19556 (B) 1974
(C) 1975 (D) 1968
fn T TR F o e ad § w2

(A) 1955 (B) 1974
(C) 1975 (D) 1968

82. In Japan, a cyclone is called as :

(A) Hurricane (B) Typhoon
(C) Willy-Willy (D) Whirlpool
oF H S%al & S e ¥

(A) e (B) ZEHA
(C) faweht-faett (D) ==Y

83. Given below are two statements :
Statement I : Directorate of Forest Education is located at Agartala.

Statement II : Tropical Forestry Research Institute is located at Jabalpur.
In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct and Statement II is incorrect.

(D) Statement I is incorrect and Statement II is correct.

N w7 e ™ ¥

Fa1 [ : 97 foen Freoem sowaen 4 femm #)

Fu I1 : 39 Hizadig afml Jgeyr g seeg § fga &

qfifefiad Fa4 # smuR w A &y fawed 4 @ w98 e IW o gAE
Hifed

(A) FuA 1 v Faa 112 @@ §

(B) Fu 1 3lK ®aa I aFf e &

(©) Fo 1 9@ ¥ i FeA 10 @ E

(D) we [ e & s we 1T E

'BC : 24/ECP/I—A 65 | P.T.O.



84. Given below are two statements :
Statement I : Teak is the dominant species in vast saline regions of India.

Statement H : Babul vegetation pertains to tropical evergreen rain forests.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct and Statement II is incorrect.

(D) Statement I is incorrect and Statement II is correct.

R A F Ry o ¥

w7 1 : WF 9Ra & fywe @R A § wgm wenfa ¥
91 I : a90 a7l Iwmfcada seeer auf o4 ¥ dafug &)

mﬁﬁafhamﬁ%wmﬁﬁqmﬁw&iﬂ%mmmmw
Fifed .

(A) 99 I 3R w9 11 21 w6 &)
(B) %97 [ 3k 97 11 24 o ¥
(C) %99 I uft & 3l F97 II Toq ¥

(D) ®97 7o & 3R w9 11 9 &

TBC : 24/ECP/I—A . 66



85. Arrange the following National Parks of India from East to West :

(1) Corbett National Park (2) Kanger Ghati National Park
(3) Rohla National Park (4) Valvadore National Park
Choose the correct answer from the options given below :

(A) (), (4), (1), (3) B) @), (1), 3), @

(C) (1), (2), (3), (4) D) (@), (3), (2), (1)
maﬁmmm@@@wﬁmmaﬁm :
(1) Ffde TR U (@) HW W& T T

(3) T@en T A (4) areaTEl g FAH

43 frg g e # @ W I W A

(A) (2), @), (1), (3) (B) (2), (1), (3), (4)

(C) (1), (2), (3), 4) D) @), (3), (2), (1)

86. Arrange the following Institutes of India from North to South :
(1) National Bureau of Animal Genetic Resources
(2) National Bureau of Plant Genetic Resources
(3) National Bureau of Fish Genetic Resources
(4) National Bureau of Agricultural Insect Resources
Choose the correct answer from the options given below :
(A) (1), (2), (3), (4) (B) (4), (3), (2), (1)
(C) (2), (4), (1), (3) M) (1), (3), (2), (4)
wi & Feifafas gwE # sw A ohw § afea Sita
(1) T Ty SgEeE FEnE o
(2) T TEY HFEE WA A
(3) TG Ao AMERTE FEET o
() T F Fe dEmE
F9 few o fawed d ¥ wh I F A FE
(A) (1), (2), (3), 4) (B) (4), (3), (2), (1)
(C) (2), (4), (1), (3) (D) (1), (3), (2), (4)

TBC : 24/ECP/I—A 67 - S



87.

Consider the following statements :

(1) Travancore agrobiodiversity Hot spot pertain to
(2) Konkan agrobiodiversity Hot spot is in Maharasht |
(3) National Herbarium of cultivated plants is at New Delhi.
(4) Triveni agrobiodiversity Hot spot pertain to Assam.
Choose the correct answer from the options given below

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (M) (1) and (4) only
Frefefas o w faan #it

(1) TEAUER Ffy Jafafawm g e Towr § Faa T

(2) Fww Ffu Safafawm e whe weag o Men F feam ¥
3) Ef @ Wi 1 g e (wdfom) T ot 7 ¥
(@) Favit Hf% Safafava o we s@m § F&ha T

A R et § ¥ v sw W g #ied

(A) Fae (1) 3R (2) (B) #ad (2) 3R (3)

(C) Faa (3) 3ir (4) (D) @ad (1) 3 (4)

Rajasthan.
ra and Goa.

88. Consider the following statements :

(1) Monkey valley lies in Chamba.

(2) Kiarda Dun valley lies in Kangra.

(3) The Great Himalayas are referred as Alpine zone in Himachal Pradesh.
_(4) Churadhar pertain to Zanskar range in Himachal Pradesh
Choose the correct answer from the options given below :

(A) (2) and (3) only (B) (1) and (3) only

(C) (3) and (4) only (D) (1) and (2) only

Frfefaa s+ = fa=r e .

(1) @<t W&t wvan # foom %

(2) fFarz g7 9@t Fime1 # g ®

(3) Temmae wew & ged fevem #1 segs 9 F R W S W@ ®
(4) TR fearme wew § i A @ defaa ®

9 feu T fawedi 4 @ WE IW w AW 6

(A) Fad (2) 3R (3) (B) #aa (1) 3R (3)

(C) Fad (3) N (4) (D) Fad (1) 3 (2)

TBC : 24/ECP/1—A 68



89. Match List I with List I :

List I List II
(Ramsar Site) (Name of State)
(@) Rudrasagar lake (i)  Punjab
(b) Harike lake (i) Assam
(¢)  Deepor Beel lake ii) Tripura
(d) Vembanand wetland (iv) Kerala

Choose the correct answer from the options given below :
@ @ @ @
(A) @) @ O (v
B) ) @ @) 6
©) @) @& @ o
D) G @ G Gi)
L w1 g Y e s

e 1 gt 10
mET w=re) (T &1 ™)
(@) TTEM = (@) dumE=
(b) ®f@ e (i) Fram
() <R =i\ == i) g
(@) <m=re a7 yfy () +&

A= fow m fawed § @ wl osw w1 g ke
(@ B) @ (@
(A) (@) G) @) (o)
(B) (w) (@) () @)
(C) Gu) @ ) ()
D) @) @ (W @)

TBC : 24/ECP/I—A 69 P.T.O.



90. Match List I with Last 1T :

List I List II
(Waterfall) (District)
(@) Rahla (2) Solan
(6) Bhagsu (1) Kangra
(c) Badri (z1) Shimla
(d) Chadwick (v) Kullu

Choose the correct answer from the options given below :
@ &) @ @
A Gv) G G G
B) @) @) Gi) @
C) Gv) G ) @)
M & @ @) (o)
T I H g O frem iR .

G| gt 10

(SreTyraTs) (ferem)
(a) T@en (&) Hed
(b) «PTg (@) ITaT
(¢) =3t (i) Teraen
(d) =refas (iv) HEe]

4 e T famedt § ¥ wh sw w1 g wRE .
(@ (b)) @ (@
(A) () @ @ @)
(B) (w) Gi) @) @)
(C) () @ @ O
M) &) @ G (v)

TBC : 24/ECP/I—A 70



91. Arrange the following climatic zones of Himachal Pradesh according t, rainfal]

amount from lowest to highest :

(1) Frigid aridic zone
(2) Wet temperate zone

= (3) Humid sub-tropical zone
(4) Sub-humid sub-tropical zone
Choose the correct answer from the options given below :
(A) (2), (4), (1), (3)
(B) (1), (4), (3), (2)
(C) (1), (3), (4), (2)
D) (4), (1), 3), (2)

ferem ww & frefafan SoEg &1 A a9 FT AN F SFTER FaW ¥ Ieaaw
F1 IR EfEm Fid

(1) ¥im 7= &

(2) g vidmn &3

(3) o Irw-HfEdy &

4) -3 Jw-Hfeay 4
ﬁmmﬁmﬁ#uﬂmmwmﬁm:
(A) (2), 4), (1), (3)

(B) (1), (4), (3), (2)

(©) (1), (3), (4), (2)

D) (4), (1), (3), (2)

92. Which of the following processes is not related to nutrition ?

(A) Ingestion (B) Assimilation
(C) Egestion (D) Scouring
Wﬂ 7 3 T Wi g A Hafig TR ?
(A) 3iTden (B) @ity
(C) frewma D) wfims

TBC : 24/E -
CP/1—A 71 | P.T.O.



93. . :
The process by which the heat comes to us from the sun is called :

(C) Conduction (D) Dispersion

@@@mmmmaﬁmmmi?

(A) g8
- (C) I
94. Given below are two statements :

Statement I : Upper jaw is an immovable joint.

Statement II : The cartilages are harder than bones.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

49 4w g M ¥

Fuq [ : SO0 w@ TF a9q 6 €

Fuq 11 : g #fg ¥ 08 For & €

Sufefafiga F9d & MR W AR frg T fawed @ wER IEA IWOF A
Fiferd :

(A) 4 1 3R FoA 11 A w8 §

(B) w9 1 3t %9 11 31 T §

(C) F9 1 9@ & ol e 11 T ¢

D) F97 1 Te@ ¥ 3w w0 T ¥

TBC : 24/ECP/I—A 12



a5. Given below are two statements :

Statement I : Rusting of Iron is a chemical change.

Statement IT : The process of depositing a layer of Zinc on Iron is called

galvanisation.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

4 3 e few ¥

&9 1 : @ie W 51 & 0@ J6EtE iEdd el

FT II : ¥ W 5% #1 Wa 9g9 &1 %0 -9 FHgal 5

Wfifafag s+ & MR W A= Ry T fawed § | ga9 Ifea s w1 A
Hifa

(A) Fgd 1 3R w97 11 < w@ §

(B) ®47 I 3l F¢7 11 31 o &

(©) ®97 1 98 ¥ iR Fg7 11 Tom &

(D) Fo 1 Tem ¥ SR FeH 1 TR

BC : 24/ECP/I—A 73 PTO.



96.

97.

Arrange the following gases according to speed of sound in them from lowest
to highest :

(1) Sulphur dioxide (2) Helium

(3) Oxygen (4) Hydrogen

Choose the correct answer from the options given below :
(A) (2), (1), (3), (4) (B) (1), (3), (2), (4)
(©) (@), (3), (1), (2) D) (3), (4), (1), (2)

ﬁlﬂfiﬁfﬁaﬂﬁaﬁﬁﬁaﬁaﬁnﬁ{%a@nmﬁmmﬁm

(1) 9¥F =Ealsges (2) wfeam

8 | SNt (4) wTEZEH
ﬁhwﬁaﬁﬁﬂuﬁmmaﬂmaﬂﬁﬂ:

A) (2), (1), (3), (4) B) (D), (3), (2), (4)
© @, @ @, e @) @), (4, (1), @)

Consider the following statements -

(1) The innermost part of flower is called ovary.

(2) Leaf usually has a lamina.

(3) Roots absorb water and minerals from the soil.

(4) Petals is not the part of a flower.

Choose the correct answer from the options given below -
(A) (1) and (2) only (B) (2) and (4) only
(C) (2) and (3) only (D) (3) and (4) only
Frefafas w946 ww faar =10y . ‘

(1) g9 & S5 F foga um =) siznm == F

(2) 9mrEa: Ot § wew 2 E

8) ¥ fugt 4 9«1 W@ @ veEl w1 s w §)
@) gE g w o A ¥

9 Ry T fawedt § ¥ W@ W w1 g Wi -

(a) @as (1) 3R (©2) C(B) FEE (2) 3R (4)
(C) 3= (2) 3R (3) (D) Haa (3) 3 (4)

BC : 24/ECP/I—A 74



38. Consider the following statements :

(1) Insulin regulates blood sugar level.

(2) Secretion of estrogen occurs in males.

(3) Deficiency of iodine may cause dwarfism.

(4) Thyroid gland regulates metabolism for body growth.
Choose the correct answer from the options given below :
(A) (1) and (3) only

(B) (2) and (3) only

(C) (1) and (4) only

(D) (2) and (4) only

Frefofan s w fmr wifm

(1) /fem @ § vwv = =1 P s 2

(2) TENE # A | F &

(3) EEH = FH A A @ gwa 3

(4) "ieE Afn W # s R fow swrem W few s
R foq M fawed § @ W@ I W w0

(A) &aa (1) 3 (3)

(B) %4 (2) 3R (3)

(C) Had (1) 3R (4)

(D) wae (2) 3R (4)

3C : 24/ECP/I—A 75 P.T.O.



99. Match List 1 with List II

List 1 List 11
(Acid) (Found in)
(@) Lactic (@) Curd
() Oxalic (1) Spinach
(¢) Tartaric (iit) Ant's sting
(d) Formic (iv) Grapes
Choose the correct answer from the options given below :
@ B @ @
(A (D) B Guv)  G&)
(B) ) @@ (v) @)
C) @ @) Gv) @)
M) @) Gw) O @)
g 1w gEt 10 ] frem sifed .
et 1 et 10
(3r%=) (Fra arar T ®
(a) EfF® (@) _3@
(b) laafaw () TS
() =R (i) T W ETH
(d) wid=s (iv) 3R
i fau T fawed § | W@ I @ g9 &
(@ B) @ (@
(A @ O Gv G&)
(B) () (Ga) Gv) @)
(C) & @ Gu) ()
(D) @) @) G (@)

TBC : 24/ECP/I—A

76



100. Match List I with List II :

List | List 11
(Scientist) (Country)
(@) Galileo @) Germany
(b) Hertz () England
(¢) Robin Warren (azz) Italy
(d) Edward Jenner (v)  Australia

Choose the correct answer from the options given below :
@ @ (@© (@
(A) @) O Gv) @
B) G @ @ G
(C) @) Gv) ) @)
D) @) () @) ()
o [ = g9 1 | foem #ifsd .

et 1 el

(&) (=)
(@) Weiifern ()
(b) &= () TS
(c) UrET a1 (iii) 3R
(d) TEaE I (iv) i

9 fey o fawedi § A wWH W F oG FE
@ b)) © (@
(A) Gi) & (v @)
(B) Gu) () @G ()
C) @) (w) @& @)
D @ 6 @ G

TBC : 24/ECP/I—A 77 P.T.O.



